.
By rk
B hFE
EER O )IIESD

n
X

Hwh— (J)—=20 04— ILFHHEIE)

BB B
#E A%FP

(TTEkIS)

o

Hr &k 0 2
& 0 oo O 0
B Fk
0 I
( 5|Mm) 0
2
1
4 5
E?
oA it
X
|
1—1
1—1
0—0
1—1 0—-0 0—0
1—2 PK3—2 0—2
2—3 0—2
0 0—1
2 0—0
2 0—1
3 6




/{D_, :_)l/ %éﬁiﬁﬁﬁﬁﬁ)

BB ik —
s, o2 % I
EEH  RE PR m kS =
. 25—23 | 25—15 | 25—16 o |
e 25-10 | 25—13 | 25-22 | ¥ |1
29—27
G2 28720 19-25 | 1272% | sm |af
14—25
2729
s | 3758 | 25-19 17725 |psom| st
25—14
16—25 | 25—12 | 25-—17 . i
By| 242
® 22—25 25— 7 25—10 2f51 88| 24
ZF NI
@ IS 2[o
R RIIT =
25-15
2|0 s
25-4 26-24
25-7 20-25
210 17-25 1]2
25_7 245_—2251
25_6 10-25
25-14 18-25 25-11 25-18
25-16 19-25 25-16 25-9
1 2 3 4 5 6 7 8 ! 0
X



INARTyRR—)L

(LR ESR) 56 | 55

16-11
i g B8F 12-14
EEH i 14-16
81 | 33 14-14 60 | 52
17-7 8-11
28- 6 11-19
17- 8 22-9
19-12 19-13
1 2 3 4
= =)
TF 62 | 39
B as 12-10
EEBE JIES 20-15
16- 8
14- 6
79 | 38 36 | 77
13-13 4-21
21- 6 8-18
25-10 9-26
86 | 36 20- 9 58 | 40 65 | 54  15-12 24 | 94
24-11 18- 8 9-9 7-24
25— 7 19- 8 16-17 2-25
19- 8 8-17 24— 6 1-21
18-10 100) 38 13- 7 16-22 14-24
23-7
21- 6
27-11
29-14
1 2 3 4 5 6 7 8 9
\
® ol e & At 7 i T il
g5 X



\/7 |‘7_':Z %ﬁgn;’éﬁ:x:—h)

B B A%s
EEE  Eo EH G
1 ‘@
@ 0 @ 0
(:I \ 1 1‘ \@ (:I \ 0 0‘ \@
@ 2 3 4 5 6 7 8
Ji 5 it h
= o = it 5 i i =
EREA
. L e, EE )
B | mE BE FE BBk =
@l Kxe B FE B 7 ) — = E% ()
3t e 1 wE & it .
0 ihgg- o (2)
M BE E X =
st | BB A @3 B = @ \F XA-FE @)
61iL Rk S i EX )
@ L - ()
74 = BH =% 55 | AF
81ir M =z BA | A% — Wi R )
@ G B, ()
3 — Wi = ()

N 1 Te D)

SHLRTE

R - 180E ()



—_— — IHET=X3a—Fk
UIRFoR =Ry
B FEs
HEH IR Foh
1 @)
@) 1 @)
@) 1 ©) o] ©) o] 0 ©)
@T_F_W1
@ 2 4 5 6 7 8 (€]
*
i f h 5
= [ %% L it R it % &
"
LFEA
. D e . il ()
B FiE 1 HiE kA | IE
wEM| AR XK FE pIE | AF 1 —— EES - AEE ()
3 i A zl 55 & )
2 |- E@ IR
At | FE B3 WA Bk &
st | #mE B =A BT = @ L—xm - i (A
61 W #EE T HkTE JIIER
(R @
% | mm mm B i %
stz | =E Yo ey @R | = ——#H - B ()
@ S Em. wBas (3
@ Pk - 58 (I
—
ONSS—TTE I NG
SHLRE
B - FiA (F)




R X

(R)I=)

BF A £ JIIER Bl =+ Jt BB | NE{L
@ m 7] 3—0 3—0 3—0 3—0 | 1
RiEH R+ =& 0—3 3—0 3—-0 | 2—1| 2
A;lF 0—3 0—3 0—3 | 0-3]| 4
7] it 0—3 0—3 3—0 1—2 | 3
|
B £l AR XER | BB [
3—0 3—0 | 2—1| 1
Al olz B|2 1 B fia R 0—3 3—0 1—1 | 2
- % g,g ﬁ % KAERR 0—3 0—3 0—2| 3
T
C hEk = A% R [IBfz
thik 2—3 2—3 | 0—2| 3
311 3—2 3—2 2—0 | 1
AE 3—-2 2—3 1—1| 2
BFEA U IR
— T BEA
i =z HA B
EBE B FE A —— FE BAER)
3{iz BA MK thFk g
— E T HME(RER)
e HEish | & e
541 AH E = —— KH ZEthE)
— = i R WA - R
61 R K= Rl K b ST
1 Y lLE‘
74z IZNF BIE JIE
81iL Z5 B | A%S ) — & &mOIR)
— JIIR KZ=(RIID)
BAR MHE(hE) e B FEF)
AL R T
b STHI(E)
BFEA HAITILR
e AR B (R (D)
B TH B F% A = |
B WA FAER R @& 2] BFE *-k5 REOIE
313 BT % X& EE NE B e O
Afir 2m BiE 18 H o
A FIRER-IA @EFD




BTE F-k5% FRFEUIER)
LR T
2\ BB 1EER)
AFh
3 | 0
EE* (AEH)
TF 3 0 0 3
B2 A 0 3 3 0
BB P ’__l I__‘
1 2 3 4 5 6
yii R = i Al h
e n ) F FX
ZFEAN UT LA
. 58 #nEse)
B K& #7 y: i das
B EM i At ] | BA(A%FH)
KE BT  —

Kjiva A 3 yiESdes
461 Mt 2A =L

O mA Z=HHEBH)

3 e X& & (AFT)

3
j—mz& £ (AHH)
SHLRTE
M3 BA (A
ZFEA AITILRA
, Tl ()
B MERE LT &5 | A%E
£EW| HE BES A % thch o AR )
l E-EEEES)
0 bR £ B (hie)




(Fas)

2|1

BFHEE
2 B £ Iy oh 224
HEEB JIERPER
B5FEA
2B LT & C
R WITEK it
361 MAREA i

41 R KHEE ®

BfTRE
g @
% 7 Ek
BB AR
EEE  PERER
K FEA
B | EkBE %
@l REEE | A%
3 REINE | mK
afsr HILE ™

SHLRTE

AEF | X 3] fm ([NEA
A E O02.1|05.73|04.73| 1
JIE (021 02/1|05.73| 2
B |A3.2(/A00 A2 4
i |A32|A4.2|04.3 3
AL — TR
WARE A (78)
WFeE — 7 -
— {EARKHE(FR)
q— WITEA (L)
Eited
JNE | $Fk 3] A |IELL
N=E A1./0|A0.70[02/1| 3
ik |O5.72 AO0/0[{06.73| 2
m |06.73|053 0874 1
A% |A00|A2/1|A0/0 4
o T mamreo
—— XHNEBRAK)
HKBER —
A—RBL e mEm ()
} oy =
—— BUEEGE
EiEed



\/7 I\, ;_)l/ Ga gy ZhR—)Lig)

BB E
#EE JIE & ! 2 3 4
B’ 4 0 0 1
JIIE 0 0 0 0
6 | 0
11 1
1 2 3
JI
= = &

Biiﬁﬁ ]:i G BkE £ 3 4%35)  BIAREEH

BFEHIE BB JIIERD 1054
EEBE hIhHd89R
ZFH&E B PEhd181R

#ER JNIRD 47%

3, s (F7A4TT) llE S !
IK ik ER 72T
BFHA = B mog (87:)
EEW Fh (905)
ZFHIE B B mg (925:)

HEE AP 1R)



INKRESURY &9 B | & | E | MK | ohE | nE | mm |EG
By _ _ _ _ -
e I it 3-0 2-1 3-0 1-2 |3 18L 2
e B 0-3 1-2 1-2 0-3 ||OB%4B%|| 5
AW N 1-2 2-1 1-2 1-2 |[1B538K| 4
hfk | 0-3 2-1 2-1 0-3 ||2B%28%| 3
JIE 2-1 3-0 2-1 3-0 AR08 1
BFEAN PUTILR
N WA BFE
2% WA BFE JNE 5
EEB £ X it ) —— b AR
3t A AR % 0
——  BRE ®BE
4431 BEE TR AL 0
54 ki B 1t 2l Emox
61 & TE it
" — - ) ik AR
81 Nk FE it Bl 1R
BFEA HITILR
, 1&2& r:'-ﬂf_r\
B | EmE mi T B | B 2 A R
e J7 Rk o . - INFR &R
EEB {2 R FRE &= it 0 — == Fm
L = = N 2
a4 NG & HiE B K . e
v} 2 = 2 pin: I
61 &H B *F R&% ® %;** 23
N e . \ _0 S HE
N : "R A
811L /x"l:lﬂ-S {EIE mﬁlll :Fﬂ] J”i ﬁa'ﬂ-%-s IE'EEI—




INRSURY £F | | | nE | x&m| sk | ik | 4 | B [iEk
ZF _ B ~ ~ ~ "
BB gk ® 2-1 | 0-3 | 3-0 [ 0-3 | 3-0 |3BK28| 3
R RERF g | 1-2 1-2 | 30 | 03 | 2-1 |2ms3mk| 4
RERB| 3-0 2-1 3-0 1-2 3-0 |[4B51B%| 2
fia R 0-3 0-3 0-3 0-3 1-2 |OB%5EK| 6
ik | 3-0 3-0 2-1 3-0 2-1 |[SESOBK| 1
it 0-3 | 1-2 | 0-3 | 2- 1-2 148K 5
TFEAN PUTILR
Rl EE
2R Rl EE KA 1
B WA BE JIIE 5 — g X5
34 mEE 13 Rk 0
— SFROEF
M Fx EW | P 1
5t | FEHE RAE = —  wux wmE
61iL BE L= MR
= _2‘ nE (35
;'- I\ == (=
7L *.L\ZF INE KA 3fRE 0
81 £ h it — PR OER
ZFEAN AT
| INK ZH
B | Ak zB ME AEE | K 2 FIE AR
5 % : 3 Fik K
EEH Rl EFE AdE XB B’ 5 — M 715
" - o - 0
afer FE B M nn | KER . Ao AR
51 BD Fw +@ BR | B 1 P g%
61 HE U ME Ys B’ ﬁ}% E*?Z
N " o 0 B 77
7 4L Hia &HE HEX BTt B’ SR D) S
st | H4B Ex BH R | JIE —  Em =2




iﬁ (AeH)

BFEA EBE dtd
ZFEE Gl

BFEA
Keih B8 FR R FR
50Kg = R it BTE & it
55kg
60Kg i it
66Kg £ &Hi it
73Kg Fl uE it
81ke ATHE #E it
ZFEA
Keih B8 FR R FR




